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Int 3 w/ MA Review Sheet (1.9,3.1-3.5)
1. Given that 
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    equal to the identity function.   
2. Given that 
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#3-6: Sketch the graph.  State the domain, range, asymptote, and the x and y intercepts (if they exist).  
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[image: image9.wmf]f

x

x

(

)

=

-

2

               
4. 
[image: image10.wmf]g

x

e

x

(

)

=

+

1



5. 
[image: image11.wmf]y

x

=

-

log

(

)

4

2



6. 
[image: image12.wmf]y

x

=

-

ln(

)

2



7.  Write the equation in logarithmic form:  
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8.  Write 
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 as a single logarithm
9.  Expand: 
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10.  Evaluate using change of base: 
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#11-27:  Solve.
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28.  The value 
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(in millions of dollars) of a famous painting can be modeled by 
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 represents the year, with 
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corresponding to 1990.  In 2004, the same painting was sold for $65 million.  Find the value of 
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, and use this result to predict the value of the painting in 2010.

29.  Find both the linear model (
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) and the exponential model (
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) for a car that cost $32,500 new and has a blue book value of $12,000 after 3 years.  Find the blue book value of the car after 5 years using each model.

30.  The population 
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of South Carolina (in thousands) from 1990 through 2003 can be modeled by 
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 represents the year, with 
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corresponding to 1990.  According to this model, when will the population reach 4.5 million?
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